= AH O
N = 0 &8 AF S & Al A
20MEE =8 2 3| ot AMSELEIAH &A
A Sh=1
M ole=E L Xot=2el
©2: Sta=Xel AZ2tAE (ol AIESESAH) (&2 &2
2N -3 - c2(3H) - NEME - HES Ol &F2H J| & @ Hns
of =1t 29,485,424 23,696,520 5,788,904
ot=& & Xotz=2te 10,596, 117 4,826,326 5,769,791
ot=xel olE2tR=E (St At S H) 830,000 100,000 730,000
BHHIIZAE FE FAUXS A (&) 830,000 100,000 730,000
401 Al&HIL 20 130,000 100,000 30,000
01 Al&H| 130,000 100,000 30,000
O2Y Salel sASTIHAIE AlEZ A
23 130,000,000& 130,000 100,000 30,000
402 BIHXHE0IA 700,000 0 700,000
01 2I2IXt=E X 700,000 0 700,000
O=YH AHI32] EZIIZAIM =8 =0IXH
M (sMASHEED) 700,000,000 14! 700,000 0 700,000
St AXI (ot AIEEE ) 9,669,565 4,629,774 5,039,791
ol gldl (oF==2t) 7,691,685 2,651,894 5,039,791
801 oilglyl 7,691,685 2,651,894 5,039,791
01 ofiglyl 7,691,685 2,651,894 5,039,791
oolldl | Z2H 7,691,685,0002 7,691,685 2,651,894 5,039,791
MR e s (ok==1t) 18,835,776 18,817,975 17,801
LHEHHXIE (Sl AIHEE S H) 18,833,876 18,817,975 15,901
WEHAH XIS 18,833,876 18,817,975 15,901
701 JIEISIHEEZ 18,404,876 18,388,975 15,901
01 JIEtR HE =2 18,404,876 18,388,975 15,901
FEPNHELEH HES 18,104,876 18,088,975 15,901
DEtFIZAE 2| (6l , 2, 2720t
s) Z3A 2,956,794,000& 2,956,794 2,883,725 73,069
DEtAIIZAE dX(B8306t+. AR20+E
olE=2ANS) 23 15,148,082,000& 15,148,082 15,205,250 N57,168
BEXES (SIS AILESHSIH) 1,900 0 1,900
DL EhE 1,900 0 1,900
802 gtet=2J|Et 1,900 0 1,900
03 =S 1,900 0 1,900
O EHZ Btat2(23HAEXI)
1,900, 000! * 14! 1,900 0 1,900
WM 2HAH|(5H=1t) 53,531 52,219 1,312
QIAS2HH| (St AIAEEZ| ) 51,531 50,219 1,312
ol 2| 51,531 50,219 1,312
101 Q1A H] 51,531 50,219 1,312
03 RIHLZ2HE 51,531 50,219 1,312
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